Replacement ARD-1001

Outer R|ng Please note all instances of ARD-1001 in the following
instructions have been replaced with this new version to
include top extension.

View from outside

o
o

o ° o
o

o o o

IDRAWN 3/20/2019 Greene Galvanized Stairs
[CHECKED East Lynn, IL 217.375.4244
or www.greenebinstairs.com

TLE

View from inside

SIZE I DWG NO I REV

A
[ 19 o1 o1




The inner and outer rings should be attached to the roof

mounts using the matching hole shape, 5 spaces apart.
For example, if the outer ring is mounted in the square punched holes,
the inner ring should also be in the square punched holes, 5 spaces up.

The pattern is repeated continuously on every roof mount. \

Each deck section is equivalent to 1' of the deck diameter at the outer ring.
For example, a 48' diameter deck will equal 48 deck sections.
The maximum number of roof mounts will be 2 per deck section.

Diamond
Square — Hole Punch Pattern

Hexagon— _—— | —

\\
Round o \ Round
\

A
/ @
\

\ <—+1.25 spacing /
\
~~— 5.00 A
/
/

\ Repeating

\
\
/

/

N Pattern / .
\\ ) ARD-MO01, A-Series Roof Deck Mount
\\\’ //
) \
- 47.00 -
P | GREENE
4450 UUDUUUDU(UUDUU)UDUUUDUUUDUUUDUUUDUUUDUU - GALVANIZED STAIRS
. ; P Bill Huft 7/1/2015 Greene Galvanized Stairs
= H——i 217-375-4244 www.greenebinstairs.com
mIr 1 @ 9
Roof rib mounting holes HFG TITLE _
Hole usage varies according to rrRovE A-Series Roof Deck Mount
bin manufacturer and roof SIZE DWG NO REV
A ARD-MO01 Roof Mount | 1
SCALE ‘ SHEET 1 OF 1

R08282015



Shown with Optional Guardrail Kit

2

° °
&
°

° °
&
°

’,

0 o
L4
-

A

\v' 4

1

-

|
/

DETAIL A
SCALE 0.15: 1

Top of Stair Section
STAIR FLIGHT ORIGIN POINT

ARD-0003 ARD-1032 mid deck
ARD-1021
ALIGNMENT CRITICAL\ /

BOLTED CONNECTION

ARD-1008

Siderail for ART5014

Top STEP

ARD-1007

~ Q
¥ Jo N ARD-1009

Bolted Connection

ARD-1001 outer ring




Kick Board is
FLIPPED and
TURNED DOWN at
Assembly

7

Entry Section

Landing Section

Mid Roof Deck Section

GREENE

GALVANIZED STAIRS

DRAWN
Bill Huff

3/2/2015

CHECKED

Greene Galvanized Stairs
217-375-4244 www.greenebinstairs.com

QA

MFG

APPROVED

TITLE

A-Series Roof Deck 12'-36' Diam.

SIZE DWG NO REV

A ARD1236 deck section | 1

SCALE

‘SHEET 1 OF 4



Mike
Callout
Kick Board is FLIPPED and TURNED DOWN at Assembly 

Mike
Line


PARTS LIST

ITEM | QTY |PART NUMBER DESCRIPTION
1 1 |ARD-1001 Roof Deck Outer Ring Segment
2 1 ARD-1009 Deck Riser
3 1 |ARD-1007 Deck Post
4 2 |ARD-1021 A-Series Deck Outer Kickboard
5 1 |ARD-1011 A-Series Inner Deck Brace
6 1 |ARD-1025 Mid-Rail
7 1 |ARD-1033 A-Series Inner Deck 12-36
8 1 |ARD-1013 A-Series Short Inner Deck Brace
9 1 |ARD-1224 Handrail
10 1 |ARD-1004 Inner Ring 1236

Mid Roof Deck Section

F = —— .

‘ T

=

GREENE

GALVANIZED STAIRS

DRAWN
Bill Huff

3/2/2015

CHECKED

Greene Galvanized Stairs

QA

217-375-4244 www.greenebinstairs.com

MFG

APPROVED

TITLE

A-Series Roof Deck 12'-36' Diam.

SIZE

A

DWG NO REV

ARD1236 deck section | 1

SCALE ‘

‘SHEET 2 OF 4




PARTS LIST -

ITEM | QTY |PART NUMBER DESCRIPTION Landing Section il

1 1 |ARD-1001 Roof Deck Outer Ring Segment

2 1 ARD-1009 Deck Riser

3 1 |ARD-1007 Deck Post

4 2 |ARD-1021 A-Series Deck Outer Kickboard

5 1 |ARD-1011 A-Series Inner Deck Brace

6 1 ARD-1033 A-Series Inner Deck 12-36

7 1 |ARD-1013 A-Series Short Inner Deck Brace

8 1 |ARD-1004 Inner Ring 1236

Kick Board Flipped
DOWN T (

=711 j

GREENE

GALVANIZED STAIRS

Eﬁzﬁ't\éfg 3/2/2015 Greene Galvanized Stairs
217-375-4244 www.greenebinstairs.com

QA
TITLE
MFG

APPROVED A-Series Roof Deck 12'-36' Diam.
SIZE DWG NO REV
A ARD1236 deck section | 1

SCALE
‘ SHEET 3 OF 4



Mike
Callout
Kick Board Flipped DOWN


PARTS LIST

ITEM | QTY |PART NUMBER DESCRIPTION
1 1 |ARD-1001 Roof Deck Outer Ring Segment
2 1 ARD-1009 Deck Riser
3 1 |ARD-1007 Deck Post
4 2 |ARD-1021 A-Series Deck Outer Kickboard
5 1 |ARD-1011 A-Series Inner Deck Brace Entry Section
6 1 ARD-1033 A-Series Inner Deck 12-36
7 1 |ARD-1013 A-Series Short Inner Deck Brace
8 1 ARDO0001 A-Series Roof Deck Entry Posts
9 1 |ARD-1004 Inner Ring 1236

Kickboard
FLIPPED DOWN _1

GREENE

GALVANIZED STAIRS

Eﬁﬁ%ﬁ 3/2/2015 Greene Galvanized Stairs
217-375-4244 www.greenebinstairs.com

QA
TITLE
MFG

APPROVED A-Series Roof Deck 12'-36' Diam.
SIZE DWG NO REV
A ARD1236 deck section | 1

SCALE
‘ SHEET 4 OF 4



Mike
Callout
Kickboard FLIPPED DOWN


Y

N||s

soogoog\c
sooeoogoo

sgoogoowg \
sooogogoo

0 o o 0,
so 0 oo
\gggggog@.
o.coegeo
\GQOQQ

‘e

40000004 7
Beooooo

Landing Section Mid Roof Deck Section

Entry Section

GALVANIZED STAIRS

GREENE

Greene Galvanized Stairs
217-375-4244 www.greenebinstairs.com

TITLE

A-SERIES ROOF DECK 24'-80' DIAM.

REV
1

DWG NO

SIZE

‘SHEET 1 OF 4

ARD2480 deck section

A
SCALE

2/27/2015

Bill Huff
CHECKED

DRAWN
QA

MFG

APPROVED




PARTS LIST

ITEM

Q
3

PART NUMBER

Mid Roof Deck Section

—

ARD-1001 outer ring

ARD-1003 inner ring mid

ARD-1009

ARD-1007

ARD-1021

ARD-1032 mid deck

ARD-1012

ARD-1011

O N U A~ WIN

ARD-1025

el il L e D S A e e e

—
o

ARD-1024

/

0./
. .
700040,
09
, Cooo0 .
s Loooogo’
000900
0 o ,
" 0000900
,

,
2,
.
:
.
.

% 0000000
°°ooooooo
%0000%00

GREENE

GALVANIZED STAIRS

DRAWN
Bill Huff

2/27/2015

CHECKED

Greene Galvanized Stairs
217-375-4244 www.greenebinstairs.com

QA

MFG

APPROVED

TITLE

A-SERIES ROOF DECK 24'-80' DIAM.

SIZE

A

DWG NO REV

ARD2480 deck section | 1

SCALE ‘

‘SHEET 2 OF 4




PARTS LIST

ITEM

Q
3

PART NUMBER

ARD-1001 outer ring

ARD-1003 inner ring mid

ARD-1009

ARD-1007

ARD-1021

ARD-1032 mid deck

ARD-1012

O NN |h~hWN

= N | | | =

ARD-1011

.o 000000°

Landing Section

l“%
o o o o o o 0O©

OB o © @20 O Ou"
"5 0o o 0o 0 0 00O
o o o O 00 O O O
O 0O 0O 0.0°0 O [e]
-0 0o O o:o o O

90000000°
® 09000000

0
90000000
oo
®0000%00
0000090

4

o
LA

0. .

o o
"
) Y
)
0

09

i

GREENE

GALVANIZED STAIRS

DRAWN
Bill Huff 2/27/2015

Greene Galvanized Stairs

CHECKED

QA

217-375-4244 www.greenebinstairs.com

MFG

APPROVED

TITLE

A-SERIES ROOF DECK 24'-80' DIAM.

SIZE

A

DWG NO REV

ARD2480 deck section | 1

SCALE ‘

‘SHEEI' 3 OF 4




PARTS LIST - ENTRY SECTION ASSY

ITEM

Q
3

PART NUMBER

—

ARD-1001 outer ring Entry Section

ARD-1003 inner ring mid

ARD-1009
ARD-1007 /

ARD-1021

ARD-1032 mid deck ) @m
ARD-1012 : )

ARD-1011

O o N UV~ WN
= = N

ARDOO0O1 Entry

90000000°¢
%0%000000

0°oooooao

)
0.
LI
o 77
* )
'o o o
%0000%00
0" A
Yo

GREENE

GALVANIZED STAIRS

DRAWN . N
Bill Hutt 2/27/2015 Greene Galvanized Stairs
217-375-4244 www.greenebinstairs.com

QA
TITLE
MFG

APPROVED A-SERIES ROOF DECK 24'-80' DIAM.
SIZE DWG NO REV
A ARD2480 deck section | 1

SCALE
‘ SHEET 4 OF 4




PARTS LIST

ITEM

Q
3

Assembled View PART NUMBER

ARD-10009 riser

i
My

ARD-1007 Post

ARD-1021 kickboard

ARD-1024 handrail

ARD-1012 long deck brace

ARD-1025 midrail

ARD-1034 deck outer

ARD-1010 outer deck brace

ARD-1001 outer ring

o
o o
0
o O
0
o O
¢}
o O
0
o O
0
o O
e}
o O
e}
O O -
° 0O
%
Ol N WN
el e L e L e L L i

He=== T

—
o

ARD-1003 inner ring mid

[ .7 GREENE

GALVANIZED STAIRS

° J Bi Hue 3/10/2015 Greene Galvanized Stairs

;:ECKED 217-375-4244 www.greenebinstairs.com

& S TITLE
APPROVED A-Series Roof Deck
SIZE DWG NO REV
A ARD6018 deck section | 1

SCALE
‘ SHEET 1 OF 3

R08282015




PARTS LIST

ITEM

Q
3

PART NUMBER

Exploded View

[y

ARD-10009 riser

ARD-1007 Post

ARD-1021 kickboard

ARD-1024 handrail

ARD-1012 long deck brace

ARD-1025 midrail

ARD-1034 deck outer

ARD-1010 outer deck brace

O IN/OuUT|bhhWN

ARD-1001 outer ring

NG YT NI IOl (T [ SIr O NSO [ TroN FIO Y

—
o

ARD-1003 inner ring mid

@} 5/16-18 x 3/4 Flange Bolt

@[—— 5/16-18 Whiz Lock Nut

@ 5/16-18 High-Crown Acorn Nut
@}5/1&18 « 1 Carrage Bol

5/16 x 1 carriage bolt, flange nut, and acorn nut used on top handrail.

0

00000007
00000000

00000000 90

00000000

5/16 x 3/4 flange bolt and flange nut used on all other connections.

GREENE

GALVANIZED STAIRS
§Eﬁﬁ§g 3/10/2015 Greene Galvanized Stairs
217-375-4244 www.greenebinstairs.com

QA
TITLE
MFG

APPROVED A-Series Roof Deck
SIZE DWG NO REV
A ARD6018 deck section | 1

SCALE ‘

‘SHEET 2 OF 3

R08282015




-39 14—

o

o

o
oo 00 0o

o

o

el Jlt—a—— 71—

ARD-1001 outer ring

ARD-1003 inner ring mid

56 1/2

ARD-1007 Post

391/2

27 9/16

ARD-1034 deck outer

391/2

®1+1/2F ‘
i =K —

ARD-1024 handrail

Uy

21/8
i 391/2 J‘
= =
* ARD-1025 midrail
43/16 40

b 4

ARD-1021 kickboard

1 ?8 F 311/2 W

(O o o
ARD-1012 long deck brace

15/8 k—ﬂ—ﬂ
0

¢
f

A\

ARD-1010 outer deck brace

21/8 21 5/16
1
NC——

)

%

ARD-1009 riser

GREENE

GALVANIZED STAIRS

3/10/2015 Greene Galvanized Stairs

DRAWN
Bill Huff
CHECKED

QA

217-375-4244 www.greenebinstairs.com

TITLE

A-Series Roof Deck

MFG

APPROVED

SIZE

A

DWG NO

ARD6018 deck section

REV

1

SCALE ‘

‘SHEET 3 OF 3

R08282015




Shown with Optional Guardrail Kit

2

° °
&
°

° °
&
°

’,

0 o
L4
-

A

\v' 4

1

-

|
/

DETAIL A
SCALE 0.15: 1

Top of Stair Section
STAIR FLIGHT ORIGIN POINT

ARD-0003 ARD-1032 mid deck
ARD-1021
ALIGNMENT CRITICAL\ /

BOLTED CONNECTION

ARD-1008

Siderail for ART5014

Top STEP

ARD-1007

~ Q
¥ Jo N ARD-1009

Bolted Connection

ARD-1001 outer ring




==l

===

13

| ey ey |y |
o © o o o o

PARTS LIST

ITEM | QTY PART NUMBER
1 2 |ARD-0002 Post
2 2 |ARD-0001 mount
3 2 |ARD-000S5 riser
4 1 |ARD-0010 deck
5 2 | ARD-0011 side kickboard
6 2 |ARD-0012 handrail end right
7 2 |ARD-0013 handrail end left
8 1 |ARD-1021 kickboard
9 1 |ARD-0003 entry right
10 1 |ARD-0004 entry left
11 2 |ARD-0014 entry kickboard
12 2 |ARD-0016 entry midrail
13 2 |ARD-0015 handrail entry
14 2 | ARD-1008 leveling plate
15 3 |ARD-0020 handrail stub

GREENE

GALVANIZED STAIRS

DRAWN
Bill Huff

3/10/2015

CHECKED

Greene Galvanized Stairs
217-375-4244 www.greenebinstairs.com

QA

MFG

APPROVED

TITLE

A-Series Base Landing Deck

SIZE

A

DWG NO REV
‘ARDOOlO base landing | 1

SCALE

‘SHEET 1 OF 3

R08282015




Sy

v Py

PARTS LIST

ITEM | QTY PART NUMBER
1 2 |ARD-0002 Post
2 2 |ARD-0001 mount
3 2 |ARD-000S5 riser
4 1 |ARD-0010 deck
5 2 | ARD-0011 side kickboard
6 2 |ARD-0012 handrail end right
7 2 |ARD-0013 handrail end left
8 1 |ARD-1021 kickboard
9 1 |ARD-0003 entry right
10 1 |ARD-0004 entry left
11 2 |ARD-0014 entry kickboard
12 2 |ARD-0016 entry midrail
13 2 |ARD-0015 handrail entry
14 2 | ARD-1008 leveling plate
15 3 |ARD-0020 handrail stub

GREENE

GALVANIZED STAIRS

DRAWN
Bill Huff

3/10/2015

CHECKED

Greene Galvanized Stairs
217-375-4244 www.greenebinstairs.com

QA

MFG

APPROVED

TITLE

A-Series Base Landing Deck

SIZE

A

DWG NO REV
‘ARDOOlO base landing | 1

SCALE

‘SHEET 2 OF 3

R08282015



VT 62 1/2
* LO o o o o o o
) 18 ARD-0002 Post
158 |, 47 1/4 -
P |
K (e} (e} o o (e} O>
* ARD-0003 entry right
15/8
+/ % 47 1/4 -
<O o) o) o) [e] )
* ARD-0004 entry left
40 -
4 3/16 ARD-1021 kickboard

-~ 391/4 —

93/8

==y e v e v e

o o

o o o o

o o

o ° o

ARD-0001 mount

351/2

111/2

ARD-0010 deck

* ARD-0015 handrail entry

e
SN

ARD-0016 entry midrail
2 1/ 8 % 95/8
| =)
* ARD-0012 handrail end right

21/8 %9 5/8ﬂ
© ]

* ARD-0013 handrail end left

ARD-1008 leveling plate

; =_
71/2 /x OL ARD-0020 handrail stub
B ONRY
GREENE

A o ]
4 9/16

ARD-0005 riser

7 1/8ﬂ

= &

45/16
ARD-0014 entry kickboard

418 =9 9/16ﬂ
A (o
- J

ARD-0011 side kickboard

ri 15—ﬂ @1 f/16

—

i

GALVANIZED STAIRS

DRAWN
Bill Huff
CHECKED
QA

3/10/2015

Greene Galvanized Stairs

217-375-4244 www.greenebinstairs.com

TITLE

MFG

APPROVED

A-Series Base Landing Deck

SIZE

A

DWG NO REV
‘ARDOOlO base landing | 1

SCALE

‘ ‘SHEET 3 OF 3

R08282015




o)

ARDO0001
Assembly Instructions

Greene Galvanized Stairs




Parts List

ARD-0004

ARD-0003

BN

39.625

o]

ARD-0021

-

-

PARTS LIST
PART NUMBER DESCRIPTION QTY
ARD-0003 A-Series Right Entry Post 1
ARD-0004 A-Series Left Entry Post 1
ARD-0007 ARD-0008 ARD-1008 Entry Leveling Plate 2
5/16-18x3/4FB |5/16"-18 x 3/4" Flange Bolt 24
5/16-18SFN 5/16"-18 Whiz Lock Nut 24
ARD-0021 Entry Kickboard 2
ARD-0022 Entry Mid-Rail 2
ARD-0007 Right Guardrail Bracket 1
14.0 ARD-0008 Left Guardrail Bracket 1
HRC1500 1.5" Handrail P-Clamp 4
Floor Screw Self-Tapping Floor Screw 6
5/16-18x3/4FB 5/16-18SFN
ARD-1008 7777‘
ARD-0022 11 1:1

N

N\

W/

HRC1500

1:1




Step 1

1. Connect an ARD-0003 Right Post to an
ARD-1008 Entry Leveling Plate using
one (1) 5/16" Flange Bolt and one (1)
5/16" Lock Nut, as shown in Figure 1
and Detail A. The bolt will go through
the bottom hole on the post and the
plate. A second bolt will be added
later.

2. Repeat for the Left Entry Post, using
ARD-0004 and the other ARD-1008.

PARTS USED IN STEP 1

PART NUMBER

DESCRIPTION QTY

ARD-0003

A-Series Right Entry Post

ARD-0004

A-Series Left Entry Post

ARD-1008

Entry Leveling Plate

5/16-18x3/4FB

5/16"-18 x 3/4" Flange Bolt

w Figure 1

5/16-18SFN

5/16"-18 Whiz Lock Nut

NININ ==

[ ARD-0004

> ~

ARD-1008

/ ARD-0003

Omit bolt here

O N

DETAIL A

&

WN_
H?I’CUS Wilmsmeyer|

3/19/2019

CHECKED

QA

Greene Galvanized Stairs
East Lynn, IL 217.375.4244
www.greenebinstairs.com

TITLE

MFG

APPROVED

A-Series Entry Post Assembly
Instructions

SIZE

IN-ARDO0O1 ™

A
e 1/10] [sueer 3 or 6




Step 2

1. Place the two (2) ARD-0022 Mid-Rails and the two (2) ARD-0021
Kickboards on the ARD-0003 and ARD-0004 posts as shown in
Figure 2. Secure them in place using six (6) 5/16" Flange Bolts
and six (6) 5/16" Lock Nuts.

2. Place the ARD-0007 Guardrail Bracket onto the right post
(ARD-0003) as shown in Figure 2. Secure in place using two (2)
5/16" Flange Bolts and two (2) 5/16" Lock Nuts.

3. Place the ARD-0008 Guardrail Bracket onto the left post
(ARD-0004) as shown in Figure 2. Secure in place using two (2)
5/16" Flange Bolts and two (2) 5/16" Lock Nuts.

Figure 2

ARD-0007

~
~

PARTS USED IN STEP 2

PART NUMBER DESCRIPTION QTY
5/16-18x3/4FB 5/16"-18 x 3/4" Flange Bolt 10
5/16-18SFN 5/16"-18 Whiz Lock Nut 10
ARD-0021 Entry Kickboard 2
ARD-0022 Entry Mid-Rail 2
ARD-0007 Right Guard Rail Bracket 1
ARD-0008 Left Guard Rail Bracket 1

™
/ARD—OOOS

g
[7)

®

\

ARD-0022
&
ARD-0021
/

MErcts wilmsmeyer|3/19/2019

CHECKED

QA

Greene Galvanized Stairs
East Lynn, IL 217.375.4244
www.greenebinstairs.com

TITLE

MFG

APPROVED

A-Series Entry Post Assembly
Instructions

SIZE

IN-ARDO0O1 ™

A
SCALE 1/10‘

SHEET 4 OF




Step 3

Figure 3

1.

"L

Take the four (4) 1.5" Handrail clamps and place them on the

assembly as shown in Figure 3. Secure in place using four (4) 5/16"
Flange Bolts and four (4) 5/16" Lock Nuts.

@\HRCISOO

PARTS LIST
PART NUMBER DESCRIPTION QTY
5/16-18x3/4FB 5/16"-18 x 3/4" Flange Bolt 4
5/16-18SFN 5/16"-18 Whiz Lock Nut 4
HRC1500 1.5" Handrail P-Clamp 4

DETAIL B

MErcts wilmsmeyer|3/19/2019

CHECKED

QA

Greene Galvanized Stairs
East Lynn, IL 217.375.4244
www.greenebinstairs.com

TITLE

MFG

APPROVED

A-Series Entry Post Assembly
Instructions

SIZE

A

INSARDO0O1

SCALE 1/8‘

SHEET 5 OF




Step 4

1. Using eight (8) 5/16" Flange Bolts and
eight (8) 5/16" Lock Nuts, attach the
ARDO0001 to an assembled ART5014 as
shown in Detail D.

2. Line up the handrails, guardrails, and
intermediate rails of the ART5014 with
the handrail clamps as shown in Figure
4. The intermediate rail will not use a
handrail clamp, refer to Detail C.

3. Use six (6) Floor Screws to secure the
rails to the ARD0O003 and ARD0004
posts, as well as the HRC1500 clamps.
The Floor Screws that join to the HRC
clamps will be drilled through the
underside of the HRC clamps, to
minimize hand interference.

DETAIL D

—

PARTS USED IN STEP 4
PART NUMBER DESCRIPTION QTY
Floor Screws Self-Tapping Screw 6
5/16-18x3/4FB |5/16"-18 x 3/4" Flange Bolt | 8
5/16-18SFN 5/16"-18 Whiz Lock Nut 8
ART5014 4-Step Roof Stair Starter 1
Figure 4
DETAIL C
/\;
Floor Screw — |
~ |
Marels wilmsmeyer|3/19/2019 Greene Galvanized Stairs
CHECKED East Lynn, IL 217.375.4244
" www.greenebinstairs.com
e A-Series Entry Post Assembly

APPROVED

Instructions

IN‘ARDOOOL |

A
N 1715 [sueer 6 o 6




Assembled View

PARTS LIST

ITEM | QTY PART NUMBER
1 1 |ARD-1006
2 1 |ARD-1023 Inner Handrail
3 1 |ARD-1026 Inner Midrail
4 1 |ARD-1035
5 1 |ARD-0007 Post Brace
6 1 |ARD-0006 Riser Ext
7 1 |ARD-1001 outer ring
8 1 |ARD-1003 inner ring mid
9 1 |ARD-1009
10 1 |ARD-1007
11 1 |ARD-1021
12 1 |ARD-1012
13 1 |ARD-1011
14 1 |ARD-1024 Handrail
15 1 |ARD-1025
16 1 |ARD-MO1

GREENE

GALVANIZED STAIRS

DRAWN
Bill Huff

3/10/2015

CHECKED

Greene Galvanized Stairs
217-375-4244 www.greenebinstairs.com

QA

MFG

APPROVED

TITLE

A-Series Arrest Landing

DWG NO REV

ARD2480AL 1

SIZE

A

SCALE
SHEET 1 OF 3




Exploded View

PARTS LIST

ITEM | QTY PART NUMBER
1 1 |ARD-1006
2 1 |ARD-1023 Inner Handrail
3 1 |ARD-1026 Inner Midrail
4 1 |ARD-1035
5 1 |ARD-0007 Post Brace
6 1 |ARD-0006 Riser Ext
7 1 |ARD-1001 outer ring
8 1 |ARD-1003 inner ring mid
9 1 |ARD-1009
10 1 |ARD-1007
11 1 |ARD-1021
12 1 |ARD-1012
13 1 |ARD-1011
14 1 |ARD-1024 Handrail
15 1 |ARD-1025
16 1 |ARD-MO1

GREENE

GALVANIZED STAIRS

DRAWN
Bill Huff

3/10/2015

CHECKED

Greene Galvanized Stairs
217-375-4244 www.greenebinstairs.com

QA

MFG

APPROVED

TITLE

A-Series Arrest Landing

DWG NO REV

ARD2480AL 1

SIZE

A

SCALE

‘SHEEI' 2 OF 3




21/8 | |
57
Pl ]
k )
! ARD-1007
41/2 UUDUUUDUUUDUDUDUUUDUUUDUUUDUUUDUUUDUU
} ARD-M01
21/8 k—41 13/16 J‘
J
} ARD-1006

e——39 3/4

'
43/16 (] - s
} ARD-1021
@112 | 391/2 |
VT / 7
EX 1 3
* ARD-1024 Handrail
21/8 .o« 391
v
& =
} ARD-1025
T
SV ] I |
* ol Jtx—x Jt_x_=x Jj—x

ARD-1001 outer ring

O O O O O O O
O O O o O O O
257/8 O O O o O o O O O
O O O o O O O
O O O O O
O O O O o O O O O
=~ O O O O O O O -
ARD-1035
4
2

ARD-1003 inner ring mid

?11/2 %37 1/24ﬂ
- ]

$ ARD-1023 Inner Handrail
2 1/8 37 1/24ﬂ
& =)
ﬁ ARD-1026 Inner Midrail
+ ki:n 1/2%
G B D)
19/16 ARD-1012

19/16

'
C

% ARD-1009

313/16

ARD-0007 Post Brace
19/16

34316

)
S

ARD-0006 Riser Ext

GREENE

GALVANIZED STAIRS

DRAWN
Bill Huff 3/10/2015

CHECKED

Greene Galvanized Stairs
217-375-4244 www.greenebinstairs.com

QA

MFG

APPROVED

TITLE

A-Series Arrest Landing

SIZE

A

DWG NO REV

ARD2480AL 1

SCALE ‘

‘SHEEI' 3 OF 3






